Parts Information:
EALE Wood Lathe 1000mm
Model No: SM1308

Item | Part No. Description Item | Part No. Description
2 | SM1308.02 CORD CLAMP 29 | SM1308.29 FACE PLATE
3 | MSP510S MACHINE SCREW PAN HEAD PHILLIPS 30 | SM46C/16 SWITCH - KID12
M5xI0mm 33 | SM1308.33 JIP
4 | SM1308.04 WASHER 34 | s1880.8 HEX HEAD SET SCREW M18x80mm SINGLE
5 | SM1308.05 BELT PULLEY 35 | SM1308.35 CARRIAGE
6 | GSM610S GRUB SCREW M6x10 (SINGLE) 37 | SM1308.37 —-
7 | ss8ies HEX HEAD SET SCREW Méxi6mm SINGLE a8 | B/6201.2RS BEARING 62012RS
8 | Fwwm8s FLAT WASHER M8 SINGLE 39 | SM1308.39 TAILSTOCK
9 [ SMI308.09 SCREW 40 | SN18S STEEL NUT M18 ZINC DIN934(SINGLE)
10 | FWM5S FLAT WASHER M5 SINGLE a1 | smizos4n SCREW AXIS
n_ | Smiso8M PROTECTING GUARD 42 | GsMs10.S GRUB SCREW M6x10 (SINGLE)
12 | SMI130812 V-BELT (9MM ID-480) 43 | SM1308.43 HANDWHEEL
13 | SM130813 BELT PULLEY 53 | SM130853 GUIDE PLATE
14 | SM1308:14 MOTOR SCREW 54 | SN18S STEEL NUT M18 ZINC DIN934(SINGLE)
15 | FWM8S FLAT WASHER M8 SINGLE 59 | SM1308.59 KNOB
16 | SM130816 LOCKING SCREW 60 | SM1308.60 GUIDE PLATE
19 | B/6203-2RS BEARING 6203-2RS 61 | SN18S STEEL NUT M18 ZINC DIN934(SINGLE)
20 | SM1308.20 BEARING BLOCK 65 | SM1308.65 SCREW FOR SWITCH
22 | SM130822 SPANNER 68 | SMI308.68 PLATE
23 | SM1308.23 BEARING BLOCK 72 | smi308.72 MOTOR
24 | B/6204-2RS BEARING 6204-2RS 5 | sm1308.75 CAP
25 | FWM8s FLAT WASHER M8 SINGLE 6 | sm130876 CAP
26 | Ss816:S HEX HEAD SET SCREW Méxi6mm SINGLE | smi30877 TRANSPARENT PLATE (NOT SHOWN)
27| SM1308.27 AXIS — | cPG12vv2-ATI MICRO SWITCH (NOT SHOWN)
28 | SM1308.28 LATHE TIP

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10f1 SM1308 Issue 2 PL 21/11/17



